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4 + 3 = 7 
5 

3 

10= 6 + 4 

 

 

 

 

12 + 5 = 17 
 
 
 

 

5 + 12 = 17 

  

 

6 + 5 = 11 
 
 

 

 

 

 

7 +  = 11 

 

 
 

 

 

 

 

 
 

 

 
 

 
  

 



 

 

 

50= 30 = 20 
 

 

 

 

20 + 30 = 50 

70 = 50 + 20 

40 + □ = 60 

 

  
 

 

 

+ = 

 

+ = 

 
 

 3 + 4 =7 
 

                 13 + 4 = 17 
 

                 3 + 14 = 17 
 
                 23 + 4 =27 

 
 

   

 
3 + 4 = 7 

 

 

 

 

 

 

 

    

 



 

 

 

 

 
25 + 10 = 35 

 

 
27 + 10 = 37 

27 + 20 = 47 

27 + □ = 57 

 
 
 
 

 

 
 

 

25 + 47 

20 + 5 40 + 7 

20 + 40 = 60 

5+ 7 =12 

60 + 12 = 72 

 

 
 

 

+ + 

 

 

+ = 15 
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tens                ones 

 

           

 

 

         10                         2            =  12 

2 2 3 

+ 1 1 4 
 

3 3 7 
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  536 
+ 85 
_1_1_ 
 621_ 
 

Tens        ones 
 
                                        
 
                 
 
                   
                 1 
 
    4           1 



 

Deanshanger Primary School Calculation Policy 
 

 

 
 
 

 

Children continue to use dienes or pv 
 

 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 

 

 

As year 4 

 
tens ones 1/10s       1/100s 

 
 
 

 

 

                    

 

 

 

 

 

 

 

 

 

 

    

 
 

 

   

 
 
 

 

 



 

 

 

 

 

 

 

6—4 = 2 
 
 

4—2 = 2 

 

 

 

7—4 = 3 
 
 

16—9 = 7 
 

 

 

 
 

 

 

 
 

 

 

 

 

 
 

 

 
 
 
 
 



 

 

 

 

 

 

 

 
 

 

 

10—6 = 4 

 

 

 

5 

12 
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14—9 

 
  

 

13—7 

 

16—8 

 

  

 

 

 

 
 

 

 

5—2 = 3 
10 = 8 + 2  

  10 = 2 + 8  

  10—2 = 8  

  10—8 = 2  



 

 

 

 

 

   

 

 

 

 

20—4 = 16 

34—13 = 21 
 
 
 

 
 
 
 
 

 

           43 -21 = 

 

43—21 = 22 

 

 

34—28 

 

 

 

93—76 = 17 

    

 



 

 

 

 

 

47—32 

— 
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234 - 179 
              H                   T                      O 

 

 

                           

 

 

 

 

 

 

 

 

 

 
 

  

  

  



 

 
 

 

  

 
 
 

 



 

November 2018 

 

 

 

 

 

  

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

+ = 32 

 
 

 

 

 

  

 

  

   

 

 
 

 

    
 

    
 

 

 
 

 

 

 
2, 4, 6, 8, 10 

 

 
5, 10, 15, 20, 25 , 30 

 

 

  

 

 

   

 

  



 

November 2018 

 

 

 

 

 

 

 
 

 

2 x 4 = 8  



 

November 2018 
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3 x 2 = 6 

2 x 5 = 10 
  

 

 

  
 

 

 



 

November 2018 

 

 

 

 

 

 
 

  

40 + 12 = 52 

 

 

 

 

 

 

 

+ = 32 

 
 

 

 

 

  

 

  

   

 

 

 

 

5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 = 40 
 

 
 

 

 

 

 
 

 
 

 

0, 2, 4, 6, 8, 10 

0, 3, 6, 9, 12, 15 

0, 5, 10, 15, 20, 25 , 30 
 

 

 
 

 
 

 

  

 

 

  

 

 

 



 

November 2018 

 

 

 

 

 

 
 

 

  

 

 
 
 

 

 

12 = 3 × 4 

12 = 4 × 3 
 

 

 

 

 

 

 

2 x 4 = 8 

4 x 2 = 8 

8 ÷ 2 = 4 

8 ÷ 4 = 2 

8 = 2 x 4 

8 = 4 x 2 

 2 = 8 ÷ 4 

 4 = 8÷ 2 
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327 

x 4 
 

28 

80 

  1200  

1308 



 

November 2018 

 

 

 
 

 

 

 
Children can continue to be supported by 

Dienes apparatus at the stage of multipli- 

cation. This initially done where there is no 

regrouping. 321 x 2 = 642 

 
327 

  x 4  

28 

80 

1200 

1308 

 

 

  

 
  

 

  

   

 

 
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 



 

November 2018 

 

 

 

 

 

 

 
 

 



November 2018 

 
 

 

  Remind children that the single digit belongs in the units 

column. Line up the decimal 

points in the question and the answer. 

 

 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



November 2018 

 
 

 

 

 

 
 



 

 

 

 

  

 

 
 

 

 
 

 
 

 

 

 

 
 
 

 

 

 

 

 
 

 

 

 

 

 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 



 

 

 

 

 

 
 

 
 

 

12 ÷ 3 = 4 

 

 

 
 

 

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 



 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 
 

 

 

 

 

 

 

 
 

7 x 4 = 28 

4 x 7 = 28 

28 ÷ 7 = 4 

28 ÷ 4 = 7 

28 = 7 x 4 

28 = 4 x 7 

4 = 28 ÷ 7 

7 = 28 ÷ 4 

 



 

 

 

 

 

   
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 
 

 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 



 

 
 

 

 

 

96 ÷ 3 
 

 

 

 

 

 

 

 

 

 

 

 

 

 
42 ÷ 3= 

 

 

We exchange this ten for ten ones and then 

share the ones equally among the groups. 
 

 
We look how much in 1 group so the answer 

is 14. 

 

 

 
 

 

 

 

 

 

 

 
 
 

 

 
 

 

 
 

 
 

 

 

 

 

 



 

 
 

 

 

 
 

 

 

 

 

 

 

 

 
 



 

 
 

 

 
 

 

 

 

 

 

 
 

 



 

 
 

 

 

 
 



 

 
 

 

 


